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Answer any five questions
All questions carry equal marks
nee equation

y i . e dittere
i) Find the Impulsi response hin| of the system described by the
2 ¥ LY -
8y fnl v n- 1| xlm) . i of a neat block diagram
b) " Diseuss the sampling rate conversion by a factor | with the he'f-newarinnl system.
€)  Define time invariant system. Show that the interpolator is a tl [5+5+5]

2a)  Check the (ollowing filter for time invariant, causal and fincar
) ¥(n) = (n — 1)32(n 4 1) (i) w(n) = n*x(n —2) als
b} Explain the frequency domain representation of discrete time S1gnais-. [5+5+3]
€)  Explain the terms: i) Up — sampling i1) Down- sampling.
+8)  Determine the Inverse Z-Transtorm of X{Z) = “T-}:{:FT,T =1 40T
b) | Find the linecar convolution of the sequences x[n] = {1,4.0,9. -1 : .and h[n]';ri:.\!]:_- i r;_}'r][l'li:’l.
¢} Compute the DFET of the sgquence x(n)=sin[nw/4], where N=8 using L] ¢ ;:"-}-d.-ﬁ +5]

4.a)  Write five properties of DFS. , 2t Sin(at)
Find the Laplace transform of the following function f(¢) = te AR [5+5+45]
) Givenx(n) = {1,2.3.4.4,3.2,1}, find X(k) using DIF FFT algorithm. :

4 K T i 2 dB: -at

Sa), Design a Chebyshev filter with a maximum passband 6*“'-';;;2:0" g2 lchs a
TN aaedn et e stopband attenuation of 35 dB/at Qs=50 rad/sec.

Ip=20rad/see and the stopbandalmmaﬁm f35 Siadito nanalog filter with impulse

b)  Obtain the impuIs'u‘_|'izsﬁun3§:_a;a'1¥ﬂﬁi‘g‘1ﬁlﬁﬁﬁﬁr_ COMmespL (it T e
response ha(t) = (1.5 e ** and mﬁhaﬁﬂﬂ’ﬁ_ﬁﬁé‘@ﬁﬁ 1.0kHz using impulse in oS :
R Vith 4 sampling rat [7+8]
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6.a)  Differentiate "maximafl}_?-ﬂ'ﬁl‘_."

tilters)
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Convert the analoy !_iIzﬁef,lﬂ"&.ﬂjgﬁﬂ!ﬂ?{#?_ vhose: iction is H(S) = o

1847)

)
Use bilinear Lmazs-rbnnaii'm.__ ' .
7.8) What 15 4 Kaiser window? In

b)  Using a rectangular wing
unity, cut-off frege
length of the impuls

8.4)  Using the z-
initial condit
Sy [n+2]=3y
b)  Determine d




